135]_3)a

Z = 56

N =179

adopted link

ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE =

S-alpha=
135BA 29
135BA 30

1133.667 ( 0.000) MeV

Energy T

0.855
0.875
0.910

1.862 ( 0.000)---

J+

J- J-other T1/2

| | 1 STABLE

| | 2 0.64 NS 27
| 0.268 11/2- 3 28.7TH 2
| | 4 13 PS 2
| | 5

| | 0.714 (7/2-) 6

| | 7

| | 8 1.32PS 5
| | 9

| | 0.951 (15/2-) 10

| | 0.980 3/2+,5/2+ 11

| | 1.008 12

I | 1.130 13

| | 1.165 14

| | 1.200 15

| | 1.214 (3/2) 16

| | 1.226 (3/2) 17

| | 1.238 (5/2) 18

| | 1.299 (1/2+,3/2+) 19

| 1.446 7/2-1 20

| | 1.557 (5/2,7/2+) 21

| | 1.585 (3/2)- 22

| | 1.609 (1/2+,3/2+) 23

| |  1.671 (3/2-) 24

| | 1.720 (1/2+,3/2+) 25

| | 1.787 (5/2-) 26

| | 1.794 (1/2,3/2) 27

| | 1.831 (1/2,3/2) 28

| | 1.871 (3/2+,5/2) 29

| | 1.879 (1/2,3/2) 30

| | 1.941 (3/2+,5/2+) 31

| | 1.955 (11/2+) 32

| | 1.965 (1/2+,3/2+) 33

| | 1.972 (3/2,5/2) 34

| | 1.991 (3/2,5/2) 35

| | 1.998 (1/2)- 36

| | 2.003 (19/2-) 37


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=135Ba
https://www.nndc.bnl.gov/ensdf/

NN

NN NDNDNDDNDNDNDNDDN NNNNDNDNDNDNDNDN N NDNNDNDNDDNDNDNDDN

W wWwwwwwwwNonN

w

.075
.077
.118

.134
.1561
.283
.334
.388
.394
.397
.420
.440
.448

.478
.485
.496
.579
.602
.621
.638
.651
.658
.667

.688
.708
.711
.730
. 740
.781
.825
.850
.873
.888

.897
.947
.084
.086
.093
111
.122
.126
.148
.154

.163
.169

(3/2,5/2+)
(1/2-,3/2-)
(1/2,3/2)

(19/2-)
(1/2,3/2)

(21/2-)
(1/2+,3/2)

1/2-,3/2-

(5/2-)

(1/2+,3/2)

(1/2,3/2)

(1/2,3/2)

1/2,3/2
1/2,3/2
(23/2-)
(1/2-,3/2-)
(23/2+)
(5/2-,7/2-)
(1/2,3/2)
(1/2,3/2)

(1/2+,3/2)
(5/2-)
(21/2+)
1/2,3/2
(1/2,3/2)

(1/2-,3/2-)

(1/2,3/2)



W wWwwwwwwwwow W WwwWwwwwwwwow W wWwwwwwwow

O D DD DWW

o oo

.182
.190
.196
.210
.212
.272
.294
.324

.410
.415
.416
.422
.454
.510
.587
.633
.648
.656

.670
.696
.708
.720
.753
.758
L779
.786
.805
.813

.881
.930
.072
.181
.24
.269
.696
.713
.729
.817

.890
.940
.023
.236
.850

(27/2-)
(23/2+)

(1/2,3/2)

(25/2+)

(1/2,3/2)

(1/2,3/2)
(29/2-)

(27/2+)

(1/2,3/2)
(29/2-)

(29/2+)
(31/2+)

(31/2+)
(35/2+)

(33/2-)

(33/2+)
(33/2+)
(35/2+)




S-n

S5-2p =
S-2n =
S-alpha=

S+p

S+n
S+2p
S+2n
S+alpha

gap p

gap n

gap 2p
gap 2n
gap alpha

6.972 ( 0.000)

14.785 ( 0.002)---
16.440 ( 0.001)---

1.862 ( 0.000)

= -5.476
= -9.108
= -12.646
-16.014
.5632

]
|
ey

2.773
.136
.139
.426
.330

|
|
N

||
o O N

AN~~~

~N AN~~~
o O O O O

O O O OO

.053)
.000)
.000)
.000)
.002)

.053)
.000)
.002)
.001)
.002)




